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Tnpsc group I / ii preliminary  
WEEKLY TEST 4  

BATCH V & KAMARAJAR BATCH 
 

1. At the time of Alexander’s invasion Chanakya was a teacher in which 
University? 
a. Nalanda University  b. Vikramasela University 
c. Takshasila University  d. Varanasi University 
mnyf;]hz;lhpd; gilnaLg;gpd; NghJ rhzf;fpah; ve;j gy;fiyf;fofj;jpd; 
Mrphpauhf ,Ue;jhh;?  
a. ehse;jh gy;fiyf;fofk;  b. tpf;ukrPyh gy;fiyf;fofk;  
c. jl;rrPy gy;fiyf;fofk;  d. thuzhrp gy;fiyf;fofk; 
 

2. The religious sect Ajivika, at the time of Mauryas was founded by 
a. Bindusara b. Badrabahu  c. Subandhu d. Makkhali Gosala 
nkshpah;fs; Ml;rpfhyj;jpy; MrPtfk; vd;w rka gphpit Njhw;Wtpj;jth;? 
a. gpe;Jrhuh; b. gj;ughF   c. Rge;J  d. kf;fypNfhryh  
 

3. The Indian tennis player who become the oldest ATP Masters 1000 
champion 
a. Mahesh Bhupathi  b. Ramkumar Ramanathan   
c. Leander Paes   d. Rohan Bopanna   
e. Answer not known 
mjpf tajpy; Vbgp kh];lh;]; 1000 rhk;gpad; gl;lk; ntd;w ,e;jpa 
nld;dp]; tPuh; 
a. kNf~; G+gjp  b. uhk;Fkhh; uhkehjd;  c. ypahz;lh; ga];   
d. Nuh`d; Nghgz;zh e. tpil njhpatpy;iy 
 

4. Which one of the following is correctly matched ? 
a. Arthasastra  - Megasthanes 
b. Indica   - Kautilya 
c. Harshacharita - Bana 
d. Ratnavali  - Chandra Gupta Maurya 
fPo;tUtdtw;Ws; ve;j xd;W rhpahf nghUe;jp cs;sJ? 
a. mh;j;jrh];jpuk; - nkf];jdp]; 
b. ,z;bfh   - nfsby;ah; 
c. `h;~rhpjk;  - ghzh; 
d. nuj;jpdhtsp  - re;jpuFg;jnkshpah; 
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5. When was Saka era started? 
a. 78 A.D.  b. 80 A.D.  c. 100 A.D.  d. 120 A.D. 
vg;nghOJ rf rfhg;jk; njhlq;fpaJ? 
a. fp.gp. 78  b. fp.gp. 80  c. fp.gp. 100  d. fp.gp. 120 
 

6. Actual coronation of Ashoka the great was held in 
a. 273 B.C     b. 272 B.C  c. 271 B. C    d. 269 B. C 
mNrhfh; Ml;rpg; nghWg;ig Vw;w Mz;L vJ? 
a. 273 fp.K b. 272 fp.K c. 271 fp.K d. 269 fp.K 
 

7. Identity the correct statements 
1. According to land slide Atlas report Rudra Prayag and Tehri are the two 

most landslide rick districts 
2. Landslide atlas report is prepared by Indian Institute Remote sensing  
a. 1 only    b. 2 only    c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
rupahd $w;Wfisf; fz;lwpf 
1. epyr;rhpT ml;y]; mwpf;ifapd;gb> Uj;ugpuahf; kw;Wk; nj`hp mjpfgl;r 
epyr;rhpT mghak; nfhz;l khtl;lq;fshf cs;sd. 
2. epyr;rhpT ml;y]; mwpf;if ,e;jpa njhiyAzh;jy; epWtdj;jhy; 
jahhpf;fg;gLfpwJ. 
a. 1 kl;Lk;    b. 2 kl;Lk;  c. 1 kw;Wk; 2 ,uz;Lk; 
d. 1 kw;Wk; 2 ,uz;Lky;y  d. tpil njhpatpy;iy 
 

8. World’s top arms importer according to SIPRI is 
a. Qatar  b. India    c. Saudi Arabia 
d. China  e. Answer not known 
SIPRI ,d; gb> cyfpd; Kd;dzp Maj ,wf;Fkjpahsh; 
a. fj;jhh;  b. ,e;jpah    c. rTjp mNugpa 
d. rPdh  d. tpil njhpatpy;iy 
 

9. Who among the following was considered as the "Father of Indian 
Uprising"? 
a. Bal Gangadhar Tilak  b. Bipin Chandra Pal  c. C.R. Das  
d. Gopala Krishna Gokhale e. Answer not known 
,e;jpa vOr;rpapd; je;ij vdf; fUjg;gl;lth; ahh;?  
a. ghy fq;fhju jpyfh;   b. gpgpd; re;jpu ghy;   c. rp.Mh;. jh];  
d. Nfhghy fpU~;z NfhfNy  e. tpil njhpatpy;iy  
 

10. Who was called as ‘Tilak of Tamilnadu’? 
a. E.V. Ramasamy   b. C. Rajaji   c. T.M. Nair 
d. V.O. Chidambaram pillai e. Answer not known. 
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‘jkpo;ehl;bd; jpyfh;’ vd;W miof;fg;gLgth; ahh;? 
a. <.Nt.uhkrhkp    b. rp.uh[h[p  c. b. vk; ehah;  
d. t. c. rpjk;guk;gps;is  e. tpil njupatpy;iy 
 

11. Consider the following 
Assertion (A): India is likely to achieve energy independence by 2047 
Reason (R): India is almost 80 – 85% reliant on imports for oil and coal 
requirements 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
c. Both (A) and (R) are false 
d. (A) is true but (R) is false  
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): 2047-f;;Fs; ,e;jpah Mw;wy; Rje;jpuj;ij mila cs;sJ 
fhuzk; (R): ,e;jpah jdJ vz;nza; kw;Wk; epyf;fhp NjitfSf;F 80-85% 
,wf;Fkjpia ek;gpAs;sJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R), (A)tpw;F rhpahd tpsf;fkhFk; 
b. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R), (A)tpw;F rhpahd tpsf;fky;y 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kl;Lk; rhp (R) jtW 
d. tpil njhpatpy;iy 
 

12. Which of the following statements about Bhagat Singh are true? 
(i) In 1930, Bhagat Singh attacked the Chittagong armouries. 
(ii) In 1929, Bhagat Singh and B.K. Dutt threw a smoke bomb inside the 

Central Legislative Assembly Hall. 
(iii) In 1925, Bhagat Singh formed Hindustan Republican Army 
a. ii only    b. i and iii only   c. i and ii only 
c. ii and iii only   e. Answer not known 
fPo;f;fhZk; $w;Wfspy; gfj;rpq; njhlh;ghd rhpahd $w;iwf; 
fz;lwpf: 
i. 1930-,y; gfj;rpq; rpl;lfhq; MAjg; gilj;jsj;ij jhf;fpdhh; 
ii. 1929-,y; gfj;rpq; gp.Nf. jj;Jld; ,ize;J kj;jpa 
rl;lg;Nguit kPJ Fz;L tPrpdhh;. 
iii. 1925-Mk; Mz;L gfj;rpq; ,e;J];jhd; FbauRg; gilia 
epWtpdhh;. 
a. (ii) kl;Lk; rhp    b. (i) kw;Wk; (iii) kl;Lk; rhp 
c. (i) kw;Wk; (ii) kl;Lk; rhp  d. (ii) kw;Wk; (iii) kl;Lk; rhp  
e. tpil njhpatpy;iy  
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13. India’s academic index is in the _______ of 179 countries 
a. Bottom 30%   b. Top 20%   c. Bottom 10% 
d. Top 30%   e. Answer not known 
,e;jpahtpd; fy;tp Rje;jpu FwpaPL179 ehLfspy; _________ cs;sJ 
a. 30% f;Fk; fPNo  b. 20% f;Fk; NkNy  c. 10% f;Fk; fPNo 
d. 30% f;Fk; NkNy  d. tpil njhpatpy;iy 
 

14. The founder of the Abhinav Bharat Society 
a. Jatin Das   b. Surya Sen  c. Madan Lai Dhingra  
d. Ganesh Damodhar Savarkar  e. Answer not known 
mgpet ghuj rq;fk; Njhw;Wtpj;jth; ahh;?  
a. [jpd; jh];   b. #h;ah nrd;   c. kjd; yhy; jpq;f;uh  
d. fNz~; jhNkhjh; rthh;fh; e. tpil njhpatpy;iy 
 

15. In December 1912, a bomb was thrown on __________ at Chadni Chowk in 
Delhi. 
a. Lord Harding  b. Lord Curzon   c. Lord Morley  
d. Lord Minto 
1912 brk;ghpy;> nly;ypapy; cs;s rhe;jpdp nrsf;fpy; _________ vd;gth; kPJ 
ntbFz;L tPrg;gl;lJ. 
a. `hh;bq; gpuG     b. fh;rd; gpuG   c. khh;yp gpuG  
d. kpz;Nlh gpuG 
 

16. Arrange the following Events in Chronological order 
1. Naujavan Bharat Sabha founded 
2. Bhagat Singh joined Hindustan socialist Republican Association 
3. Bhagat Singh hanged in Lahore Jail 
4. Bhagat Singh and B.K. Dutt thrown bomb in the Legislative 
Assembly Hall 
a. 1, 3, 4, 2   b. 2, 1, 4, 3    c. 3, 1, 4, 2  
d. 4, 3, 2, 1   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;iw fhy thpirg;gLj;Jf.  
1. et[thd; ghuj; rgh njhlq;fg;gl;lJ 
2. ,e;J];jhd; Nrh~paypr FbauR mikg;gpy; gfj;rpq; Nrh;e;jhh;. 
3. gfj;rpq; yh$h; rpiwapy; J}f;fpyplg;gl;lhh;. 
4. gfj;rpq;Fk; gp.nf.jj;Jk; kj;jpa rl;lkd;wj;jpd; kPJ Fz;L tPrpdhh;fs;. 
a. 1, 3, 4, 2   b. 2, 1, 4, 3    c. 3, 1, 4, 2  
d. 4, 3, 2, 1   e. tpil njhpatpy;iy 
 

17. The Ghadar Party was formed by Lala Har Dayal in the year 1913 in 
a. America   b. Russia    c. Japan 
d. Germany  e. Answer not known 
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fjh; fl;rpia yhyh `h; jahy; 1913-y; ve;j ehl;by; njhlq;fp itj;jhh;? 
a. mnkhpf;fh  b. u~;ah    c. [g;ghd;  
d. n[h;kdp   e. tpil njhpatpy;iy  
 

18. India’s Position in world Air quality index 2022, 
a. 108  b. 13  c. 8  d. 5  e. Answer not known 
cyf fhw;Wj; juf;FwpaPL 2022-y; ,e;jpahtpd; ,lk; 
a. 108  b. 13  c. 8  d. 5  e. tpil njhpatpy;iy 
 

19. Who were popularly called as Trio? 
a. Gandhi, Nehru and Patel b. Lal, Bal and Pal 
c. Gandhi, Nehru and Tagore d. Nehru, Tagore and Nethaji 
e. Answer not known 
buNah vd rpwg;ghf miof;fg;gl;lth;fs; ahth;? 
a. fhe;jp> NeU kw;Wk; gNly; b. yhy;> ghy; kw;Wk; ghy; 
c. fhe;jp> NeU kw;Wk; jh$h;  d. NeU> jh$h; kw;Wk; Nejh[p 
e. tpil njhpatpy;iy 
 

20. Aurobindo Ghosh was defended in the Alipore Bomb case by 
a. C.R. Das   b. Motilal Nehru  c. Bhula Bhai Desai 
d. Bipin Chandra Pal  e. Answer not known 
mypG+h; Fz;L ntbg;G tof;fpy; mutpe;j Nfh~;f;fhf tof;if thjhbath;  
a. C.R. jh];   b. Nkhjpyhy; NeU  c. Gyhgha; Njrha; 
d. gpgpd; re;jpu ghy;  e. tpil njhpatpy;iy 
 

21. Which Viceroy was mainly responsible for the clashes between the 
moderates and the Extremists? 
a. Lord Minto  b. Lord Curzon  c. Lord Moreley  
d. Lord Canning 
kpjthjpfSf;Fk; jPtputhjpfSf;Fk; ,ilNa fUj;J NtWghL tsu Kf;fpa 
fhuzkhf ,Ue;j itrpuha; ahh;? 
a. kpz;Nlh gpuG  b. fh;rd; gpuG  c. khh;yp gpuG   
d. fhdpq; gpuG 
 

22. World consumer Rights day is celebrated on,  
a. March 7   b. March 30   c. March 22 
d. March 15  e. Answer not known 
cyf Efh;Nthh; chpikfs; jpdk; nfhz;lhlg;gLk; ehs;> 
a. khh;r; 7   b. khh;r; 30    c. khh;r; 22 
d. khh;r; 15  e. tpil njhpatpy;iy 
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23. Who threw the bomb on Kingsford, the unpopular Judge at Mazzafarpur? 
a. Khudiram Bose  b. Nadiram Gosh   
c. VD Savarkar   d. Bagat Singh 
K[hgh;G+h; ePjpgjp fpq;];Nghh;L kPJ ntbFz;L tPrpath; ahh;? 
a. Fjpuk; Ngh];   b. ehjpuhk; Nfh~;    
c. V.D. rthh;f;fh;  d. gfj; rpq;  
 

24. Identify the correctly matched pairs 
1. Zero discrimination day – March 1 
2. World sparrow day – March 20 
3. International Day of Mathematics – March 14 
a. 1 and 2 only   b. 2 only    c. 1 and 3 only 
d. All the above   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. ghFghL ,y;yhik jpdk; - khh;r; 1 
2. cyf rpl;Lf;FUtp jpdk;  - khh;r; 20 
4. rh;tNjr fzpj jpdk; - khh;r; 14 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk; 
d. Nkw;fz;l midj;Jk; d. tpil njhpatpy;iy 
 

25. Consider the following statement/s is/are true in respect of size of India : 
i. India has 4.42% of the Worlds total land area. 
ii. India has an area of 3.2 million sq.km., making it the seventh  largest 

country in the World. 
a. (i) only    b. (ii)only   c. Both (i) and (ii) 
d. None of the above  e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;Ws; ,e;jpahtpd; nghpa rkntsp njhlh;ghd 
rhpahd $w;W / $w;Wfs; fUj;jpy; nfhs;sTk;.  
i. cyfpd; nkhj;j epyg;gug;gpy; ,e;jpah 4.42 rjtPjj;ij nfhz;bUf;fpd;wJ.  
ii. ,e;jpahtpd; gug;gsT 3.2 kpy;ypad; rJu fp.kPl;lh;fs;> MfNt ,J 

cyfpd; VohtJ nghpa ehlhf cs;sJ.  
a. i kl;Lk;    b. (ii) kl;Lk;   c. (i), (ii) Mfpa ,uz;Lk; 
d. ,it vJTk; ,y;iy  e. tpil njhpatpy;iy 

26. Sir Creek forms the boundary between  
a. Gujarat and Pakistan  b. Arunachal Pradesh and China 
c. Sikkhim and Nepal   d.  Sikkhim and Bhutan 
e.  Answer not known 
'rh; fphPf;' ____________ kw;Wk; ____________ ,ilapyhd vy;iyahf 
mikfpwJ.  
a. F[uhj; kw;Wk; ghfp];jhd;  b. mUzhry gpuNjrk; kw;Wk; rPdh  
c. rpf;fpk; kw;Wk; Neghsk;   d. rpf;fpk; kw;Wk; G+lhd; 
e. tpil njhpatpy;iy 
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27. Identify the false statement. 
a. Ladakh is called Little Tibet. 
b. Bhutan is a buffer state between India and China. 
c. Nepal is a land locked country. 
d. Only four states of India touch the Nepalese border. 
e. Answer not Known 
jtwhd $w;W vJ? 
a. ylhf; `rpwpa jpngj;’ vd miof;fg;gLfpwJ. 
b. G+lhd;, rPdh kw;Wk; ,e;jpahtpd; ,ilapyhd ,ilj;jLf;F ehL MFk;. 
c. Neghsk; epyk; #o; ehlhFk;.  
d. ,e;jpahtpd; ehd;F khepyq;fNs Neghs vy;iyia njhLfpd;wd  
e. tpil njhpatpy;iy 
 

28. The longitude used to determine the standard time of India is  
a. 37˚ 6’ E   b. 68˚ 7’ E    c. 97˚ 25’ E 
d. 82˚ 30’ E  e. Answer not known 
,e;jpa jpl;l Neuj;ij fzf;fpl gad;gLj;jg;gLk; jPh;f;fNuifahdJ 
a.   37˚ 6’ fp  b. 68˚ 7’ fp   c. 97˚ 25’ fp 
d. 82˚ 30’ fp  e. tpil njhpatpy;iy 
 

29. IBA Women’s Boxing World Championship 2023 was held in  
a. New Delhi   b. Bhubaneswar   c. Karnal 
d. Imphal    e. Answer not known 
IgpV kfsph; Fj;Jr;rz;il cyf rhk;gpad;~pg; 2023 eilngw;w ,lk;> 
a. GJ nly;yp   b. GtNd~;th;   c. fh;dhy; 
d. ,k;ghy;    e. tpil njhpatpy;iy 
 

30. _________    is the second largest State in India on account of its size. 
a. Tamil Nadu   b. Uttar Pradesh  c. West Bengal 
d. Madhya Pradesh  e. Answer not known 
_________  gug;gstpy; ,uz;lhtJ nghpa ,e;jpa khepykhFk;. 
a. jkpo;ehL   b. cj;jpug;gpuNjrk;  c. Nkw;F tq;fhsk; 
d. kj;jpag; gpuNjrk;  e. tpil njhpatpy;iy 
 

31. Which of the following pair are correctly matched. 
Hills     Region 

1. Cardamom Hills  - Coromandel Coast 
2. Kaimur Hills   - Konkan Coast 
3. Mahadeo Hills  - Central India 
4. Mikir Hills   - North-East India 
a. 1 and 2    b. 2 and 3    c. 3 and 4  
d. 2 and 4    e. Answer not known 



 

8 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

fPNo nfhLf;fg;gl;ltw;wpy; rhpahdij nghUj;Jf 
kiyfs;    ,lq;fs; 

1. Vyf;fha; kiy - Nrhokz;lyf; flw;fiu 
2. if%h; kiy  - nfhq;fz; flw;fiu 
3. kfhjpNah kiy - kj;jpa ,e;jpah 
4. kpfph; kiy  - tl fpof;F ,e;jpah 
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3   c. 3 kw;Wk; 4 
c. 2 kw;Wk; 4   e. tpil njhpatpy;iy 
 

32. Which is the Mountain peak in India that is also known as “The five 
treasures of snows”? 
a. Mount Abu   b. Gurushikar    c. Anaimudi 
d. Kanchenjunga  e. Answer not known 
“Ie;J gdp nghf;fp~q;fs;” vd mwpag;gLk; ,e;jpa kiyr; rpfuk;? 
a. kTz;l; mG   b. FU~pfhh;   c. Mid Kb 
d. fQ;rd; [q;fh  e. tpil njhpatpy;iy 
 

33. Which of the following statements are true about the location and extent of 
India?  
i. India is divided into almost two equal halves by tropic of cancer.  
ii. India is the second largest country of the world in area  
iii. The latitude and longitudinal extend is nearly thirty degrees.  
iv. The standard meridian of India passes through Bhopal  
a. (ii) and (iii) only    b. (i), (ii) and (iv) only c. (i) and (iii) only  
d. (i) (iii) and (iv) only  e. answer not known 
,e;jpahtpd; ,Ug;gplk; kw;Wk; gug;gsT Fwpj;Jg; gpd;tUk; 
$w;Wfspy; vJ rhpahdJ?  
i. flf Nuifapdhy; ,e;jpah Xustpw;F ,uz;L rkg; gFjpfshfg; 

gphpf;fg;gl;Ls;sJ.  
ii. gug;gstpy; cyfpd; ,uz;lhtJ nghpa ehL ,e;jpah  
iii. ml;r kw;Wk; jPh;f;f NuiffSf;F ,ilNa cs;s ,ilntsp 

fpl;ljl;l Kg;gJ bfphp MFk;.  
iv. ,e;jpa jpl;l jPh;f;f Nuif Nghghy; topahf fle;J nry;Yk;  
a. (ii) kw;Wk; (iii) kl;Lk;  b. (i), (ii) kw;Wk; (iv) kl;Lk;   
c. (i) kw;Wk; (iii) kl;Lk;    d. (i), (iii) kw;Wk; (iv) kl;Lk;    
e. tpil njhpatpy;iy  
 

34. Match List I with List II  
List I    List II 

 A. Debsa pass  1. Uttarakhand 
 B. Lekhapani pass 2. Himachal Pradesh 
 C. Nathu La pass 3. Arunachal Pradesh 
 D. Muling La pass 4. Sikkim 
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 A B C D 
a. 2 3 4 1 
b. 4 2 3 1 
c.  2 3 1 4 
d.  4 2 1 3  e. Answer not known 
gl;bay; I I gl;bay; II cld; nghUj;Jf. 
gl;bay;  I        gl;bay; II 

 A. nlg;]h fztha;  1. cj;jufhz;l; 
 B. Nyfhghdp fztha;  2. `pkhr;ry gpuNjrk; 
 C. ehJ yh fztha;  3. mUzhr;ry gpuNjrk; 
 D. Kypq; yh fztha; 4. rpf;fpk; 
  A B C D 

a. 2 3 4 1 
b. 4 2 3 1 
c.  2 3 1 4 
d.  4 2 1 3  e. tpil njhpatpy;iy 
 

35. The theme of World Wildlife Day 2023 is,  
a. Partnerships for wildlife conservation 
b. Sustaining all life on earth 
c. The future of wildlife is on our hands 
d. Big cats – predators under threat 
e. Answer not known 
cyf tdtpyq;F jpdk; 2023-,d; fUg;nghUs;> 
a. tdtpyq;F ghJfhg;gpw;fhd $l;L 
b. cyfpd; midj;J caph;fisAk; fhj;jy; 
c. td caph;fspd; vjph;fhyk; ek; iffspy; 
d. ngUk;G+idfs; - mr;RWj;jypd; fPo; Ntl;il tpyq;Ffs;. 
e. tpil njhpatpy;iy 
 

36. Find the oddman out in the following: 1, 5, 14, 30, 50, 55, 91 
gpd;tUk; vz;fs; njhlh;thpirapy; nghUe;jhj vz;izf; fhz;f. 
1, 5, 14, 30, 50, 55, 91 
a. 5   b. 50   c. 55          d. 91 

 
37. 28 students were divided into three groups A,B and C. Group B consists of 

twice the number of students in Group C. Group A has half the number of 
students in Group C. How many students are there in Group C ? 
a. 4  b. 6  c. 8  d. 14 
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28 khzth;fs; A, B kw;Wk; C vDk; %d;W FOf;fshfg; 
gphpf;fg;gLfpd;wdh;.  FO B FO C ,y; cs;sJ Nghd;W ,U klq;F 
khzth;fisf; nfhz;lJ.  FO  A ,y;> FO C ,y; cs;sjpy; ghjp 
vz;zpf;if khzth;fs; cs;sdh;.  FO C ,y; cs;s khzth;fs; 
vj;jid Ngh;?  

 a. 4  b. 6  c. 8  d. 14  
 
38. The cube of an odd natural number is  

a. prime number   b. Even number    
c. odd number    d. may be even may be odd  
xw;iw ,ay; vz;zpd; fdk; MdJ  
a. gfh vz;    b. ,ul;il vz;    
c xw;iw vz;   d. ,ul;il vz; my;yJ xw;iw vz;  

 
39. Which of the following number is not divisible by 4? 

a. 618703572 b. 67920594 c. 62686440 d. 1765216 
gpd;tUk; ve;j vz;iz 4 My; tFf;f KbahJ? 
a. 618703572 b. 67920594 c. 62686440 d. 1765216 

 

40. The next term of the sequence 3 1 1 1
3, , , , , ___,......

2 2 8 40
 is 

a. 1

140
    b. 1

440
  c. 1

240
  d. 1

340
 

3 1 1 1
3, , , , , ___,......

2 2 8 40
vd;w njhlhpy; mLj;j cWg;G 

a. 1

140
    b. 1

440
  c. 1

240
  d. 1

340  
 
41. One number is seven times another. If their difference is 18, find the 

numbers. 
a. 3 & 21   b. 4 & 28  c. 7 & 23        d. 5 & 35  
Xh; vz; kw;Nwhh; vz;zpd; 7 klq;F MFk;. mtw;wpd; tpj;jpahrk; 18 vdpy;> 
mt;ntz;fisf; fhz;f 
a. 3 & 21   b. 4 & 28  c. 7 & 23        d. 5 & 35  

 
42. Sixty-Five percent of a number is 21 less than four fifths of that number. 

What is the number? 
a. 140  b. 150  c. 135         d. 120   
Xh; vz;zpd; mWgj;ije;J rjtPjk; me;j vz;zpd; Ie;jpy; ehd;F gq;fpy; 
21 FiwT vdpy; me;j vz;izf; fhz;f. 
a. 140  b. 150  c. 135     d. 120   
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43. In the given series, find the number which is wrong : 
 2, 3, 4, 4, 6, 8, 9, 12, 16 

a. 3  b. 9  c. 6  d. 12   
 nfhLf;fg;gl;Ls;s vz; thpirapy; ve;j vz; jtwhdJ?  
 2, 3, 4, 4, 6, 8, 9, 12, 16 

a. 3  b. 9  c. 6  d. 12   
 
44. A number when divided by 221 gives a remainder 43, what remainder will 

be obtained by dividing the same number 17? 
 a. 11  b. 10  c. 9  d. 5   

Xh; vz;iz 221 My; tFf;Fk; nghOJ kPjp 43 fpilf;fpwJ> ,Nj vz;iz 
17My; tFf;Fk; nghOJ fpilf;Fk; kPjp ahJ? 

 a. 11  b. 10  c. 9  d. 5 
 
45. Find a positive number which when increased by 17 is equal to 60 times 

the reciprocal of the number 
a. 17   b. 15  c. 8  d. 3           
xU kpif vz; kjpg;Gld; 17I $l;Lk;NghJ fpilf;Fk; kjpg;ghdJ 
mt;ntz;zpd; jiyfPopapd; 60 klq;fhFk; vdpy; mt;ntz;izf; fhz;f 
a. 17   b. 15  c. 8  d. 3           

 
46. ‘Veracity’ means 

a. speaking truthful words  b. speaking words not harming others 
c. speaking boldly   d. speaking sweetly 
e. Answer not known 
tha;ik vdg;gLtJ _____ 
a. cz;ikia NgRjy;  b. jPq;Fjuhj nrhw;fisg; NgRjy; 
c. ijhpakhf NgRjy   d. ,dpikahf NgRjy; 
e. tpil njhpatpy;iy 

 
47. Which one is the best among all virtues? 

a. Veracity   b. Learning   c. The Greatness of a King 
d. None of these e. Answer not known 
mwq;fSs; rpwe;j mwk; ________ 
a. tha;ik   b. fy;tp    c. ,iwkhl;rp 
d. vitAk; ,y;iy e. tpil njhpatpy;iy 
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48. Who is greater than doners and sages? 
a. He who speaks the truth will full consenting mind 
b. Learned people 
c. King who saves his people 
d. Family man 
e. Answer not known 
jhdk;> jtk; nra;Nthiutpl NkyhNdhh; ahh;? 
a. kdj;njhL tha;ik nkhopgth;  b. fy;tp fw;Nwhh; 
c. kf;fis fhf;Fk; murh;   d. ,y;tho;thd; 
e. tpil njhpatpy;iy 
 

49. What does anger kill? 
a. cheerly face  b. happiness of heart  c. hostility 
d. a and b   e. answer not known  
rpdk; vtw;iwf; nfhy;fpd;wJ?  
a. Kfkyh;r;rpia  b. mfkfpo;r;rpia   c. gifia 
d. a kw;Wk; b   e. tpil njhpatpy;iy 
  

50. sinamennum saerndhaaraik kolli inamennum 
Emap punaiyaich sudum 
In this Kural the term punai means 
a. thappam  b. neer c. udal c. uyir e. answer not known 
'rpdnkd;Dk; Nrh;e;jhiuf; nfhy;yp ,dk;vd;Dk;  
Vkg; Giziar; RLk;" vd;w Fwspy; tUk; "Giz" vd;w nrhy;ypd; nghUs; 
ahJ? 
a. njg;gk;  b. ePH  c. cly; d. caph; e. tpil njhpatpy;iy  
 
 

 
 


